
INTERNET AI\D WEB TECTINOLOGY
Full Marks -70

Time - Three hours

The figures in the margin indicate full marks
for the questions.

fnstructions :

1. Questions on PARI - A are compulsory.

2. Answer arry five questions frpm PART - B.

PART - A
Marks - 25

1. Fill in the blanks: l0xl:10
(a) IRC stands fs1 

-.
(b) A host on the internet finds another host by

its address.

(c) A dial up connection enables to connect to
ISP using a 
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(a) Name some protocols

(b) Explain how does slid

7.

8.

work.

(a) Differentiate between web browser and
search engine with example of each. 2

O) Explain the term Active X. 2

(a) IMrite briefly about the HTML tags with
exanrple. 2

(b) What are, the HTML tags used for listing
items ? Explain nested listing items. 2

fuiswer any one question from (10-12).

Design a webpage for displaying your biodata.
5

ll. Write about B2B, BZC and C2C tlpe E-commerce.
5

12. Write the working principle of a Search Errgine.
at least 4 search engines 5

6/CO-s0l/r&wT (N)

9

10.

(6)


